TWISTER
Electric Paddle Mixer

POWER TOOLS

@VOLUTION'

REV.
2.00

Service Parts List




Item  Description Part No Qty
1 Spindle M14x2.0 T251 1
2 Woodruff key 5x5x12 T2S2 1
3 Seal 22x32x7 T2S3 1
4 Screw & spring washer M5x60 T2S4 4
5 Gear housing T2S5 1
6 Needle bearing HK101410 T2S6 2
7 Gear pinion 1 T2S7 1
8 Woodruff key 5x5x10 T2S8 1
9 Countershaft Gear 2 T2S9 1
10 Circlip 12 725810 1
1" Bearing 600322 T2S11 1
12 Circlip 35 T2812 1
13 Circlip 17 T2S813 1
14 Spindle gear 3 T2514 1
15 Circlip15 T2S815 1
16 Needle bearing HK081210 T2516 3
17 Gear pinion 4 T2817 1
18 Flat key 3x3x8 T2518 1
19 Countershaft 5 T2S19 1
20 Gearing cover T2S20 1
21 Bearing 609 2RS T2521 1
22 Armature 110v T2822 1
22A  Armature 230v T2822A 1
23 Bearing 627 ZZ T2S23 1
24 Field coil 110v T2S24 1
24A  Field coil 230v T2S24A 1
26 Motor housing T2S26 1
27 Brush holder T2827 2
28 Carbon brush (Pr) T2S28 1
29 Screw ST2.9x9.5 T2S29 4
31 Spring T2S31 2
32 Sensor with emc 110v T2S32 1
32A  Sensor with emc 230v T2S32A 1
34 Motor cover T2S34 1
35 Screw ST4.8x25 T2S35 4
36 Handle body ( top ) T2S36 1
37 Handle body ( bottom ) T2837 1
38 Screw ST4.2x19 T2S38 8
39 Screw ST4.2x25 T2S39 4
42 Speed adjustor control T2S42 1
43 Switch 8301 110v T25843 1
43A  Switch 8301 230v T2S43A 1
44 Screw ST4.2x13 T2S44 2
45 Cord clip T2S45 1
47 Cord protector T2847 1
48 Power supply cord 110v UK T2S48 1
48A  Power supply cord 230v UK T2S48A 1
49 Wrench M22 T2549 1
50 Washer T2S50 1
51 Pin 4x16 T2S51 1
52 Screw ST4.8x68 T2852 2 Evolution Power Tools Ltd
ggA IEaEe: set ;13%" %ggg/\ 1 Venture One, Longacre Close, Holbrook Ind Estate, Sheffield, S20 3FR, UK
abel set 230v Tel: +44 (0) 870 609 2297 Fax: +44 (0) 114 247 3339 www.evolutionpowertools.com
QV/ TWISTER
OLlS’u.v!-EIR(T)n!\LIs Electric Paddle Mixer
Service Parts List




